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[ Concert Band - Harmonie - Blasorchester |

Steady "'Disco" Beat

Music and lyrics by Benny Andersson & Bjorn Ulvaeus

DANCING QUEEN

Performed by ABBA

Arranged by Frank Bernaerts

2 . . x oz 3 O
) > 2+ = > fr Fer > fFr F£Z = ep?
Flute 1,2 * =
& ===
4 — > £ — > =
Oboe v - T e e =
5 = = = r ! = = = f ===
Bassoon 1,2 EoF i — = — t F—
= j—— = = = t f
O 3 e e P = —_—
Eb Clarinet
¢ =
) = = = = = = >
B> Clarinet 1 s i i — o e s e T + G
S o f — : — f f S
. A I —— _—— ———r—= —
B> Clarinet 2 = £ = = = =
—== = = = == = === = =
A 3
’ —s—
B» Clarinet 3
Eb Alto Clarinet
B> Bass Clarinet

E» Alto Saxophone 1

E» Alto Saxophone 2

B> Tenor Saxophone 1,

)
E» Baritone Saxophone |
Gi

—_—
Bb Trumpet/Cornet 1
—
Bs Trumpet/Cornet 2 L
——
Bb> Trumpet/Cornet 3 =
FHomn 1 ==
FHorn2 } }
FHon3 :
E £ 7
C Trombone 1
= R e
C Trombone 2
C Trombone 3
= = A = = = i —_—t
_ z— = 3 oz 3 e ey
CEL Baritone [FE = e e e e e f i
T
Chas % — t — = — ; — —
= v 3 EN S U
A g S EE I HERES =z
Timpani
= = = = = = t F
+ + + + + + + + + + + + +
N T —r e e e o T I T
Drums
4 f i 7T f == h f = i
Y —_—
Glockenspiel = =
o 7= = =
2 3 4 a
Copyright © 1976 Polar Music AB, Stockholm-Sweden.
Used by kind permission of Poly usic ing.
Authorised edition 2005 : Bernaerts Music bvba, Music Publishers, Willebroek-Belgium, E.C. 2005.0456

- {—\ - _ o _ - .
p £ > Pferr ffr = frie >
Flute 1,2
Gi
5> e = = = = > = =
Oboe } f i == === f =7 =
S t —— t =t t
Bassoon 1.2 — ; ; t ; — - >
= = = —— =
i — t = e = t = —
E> Clarinet =
R f = = =i = = =
g = = =~ > - - - = _ = - — =
B, Clarinet 1 o > — —r = e —
Saas === — =7 7 =
9 et N = \ =
B» Clarinet 2 i e > = = 5 e
¥ = = = = = = = i i = = S =
9
B> Clarinet 3
¢ 2 2= 2=
94
E> Alto Clar. i —
o & = =
9
By BassClar. T i
& =
ER E4
gy = |
E> Alto Sax. 1
o
o — :
E> Alto Sax. 2 =
o1
P
Bb Tenor Sax. 1,
94
E> Bar. Sax. - :
o= =
g = = =
B> Trp./Crnt. 1 =
Caaa =
9
B> Trp/Crt. 2
¢ = = =
9
By Trp./Crnt. 3 = = o = S
D .= E = = B = s == > =
g = = =~ = = 3 - = > > - =
FHom 1 = ’ = =2
- t = t 7 =
= —— —_— | P e e
FHorn 2 =
o= = = = = = = =
EHom3 — : — : — :
o = == £ T * z = z 2=
= = . = 3 3 s . R - — e >
e r rerret — —— — = fFr irr .
C Trombone 1
3. i 7 5. e i o o |2 5 S a— 2 =
C Trombone 2
C Trombone 3 B } — = ] ; = =
= = — = = = 4 - Ea—
= T » z = s 7 = Z >
& > £ P ey 2 FEie 3 Fowe s
C Euph./Bar.
CBass = = = - - = E: = = =
Z Ed Ed ] El El El = = =
- z - z z
Timpani £
+ + + + PR + + + + + PR 4o + +
7 T T T |1t T |—r71T ~rT S e s |
Drums
I = i I = r 1 I — 1 = I 1 = — =
p = e _ - - -
Glock.
S t — " f =
7 9 10
2




y, E FEFE L e Fr s Fr . Lo £Fr Fr 2 FrFr F2 p, 3 Fr T e s o3 EE
Flute 1,2 Flute 1,2
5i Si
b= - = . . - — - - 5, P
Oboe T L T > T T = — f i o — f i T i — f Oboe L = r T =
o 7 = =0 = =1 i = S i
Bassoon 1,2 o = ——— =5 = ; 2= — ; Bassoon 1,2 S F= = - — = : e 4 = 2
v ¥ — ¥ —= = = = = t F— t = = = = =
gr = — 4 —— = T —— s
Eb Clarinet = E» Clarinet
ot — t — — == = == === —= DR — = —
, —s— . _ = = =
B Clarinet 1 ; —— —— — = —_— — —— B5 Clarinet 1 S ; 2 ; —
Gi = == [ =1 t = ¥ —a—a =—_a===== = z
—= = = — — t ; == —= —
B, Clarinet 2 = = 1 Y — P t B> Clarinet 2
Si = —= == EE = == 2 =5 ES 1= = = — =
4 2 ) 2 " : : —
B Clarinet 3 E = B» Clarinet 3 == = : : —
o= == = S e e e EIE = e —a = o2 = 2 z = = F—F
04 \ . 04
E» Alto Clar. & — : — — ; 5 ; S = ; B> Alto Clar.
DR - - 12 i s = T = 4
, \
Bs Bass Clar. f == o i = i ] £ B5 Bass Clar.
fs 3 s 3z = > > [ S . _
E» Alto Sax. 1 E> Alto Sax. 1
5 = f
_ = = —_—— e e | ] > >
E> Alto Sax. 2 % —_— e = : = : B> Alto Sax. 2
y == == =t = = ¥ = }
5 > —a—
B> Tenor Sax. 12|t £ ; ; f —— - : B> Tenor Sax. 12
S = = = =5 ==t ==
04 = .
E> Bar. Sax. E = . = T t I T E> Bar. Sax.
R = Gz - = B - = = 4
3—
g = = = = > = > = N = - =
B Trp/Crnt. 1 [t — T — — — e — B, Trp./Crnt. 1
Gi = = = = ==
B> Trp/Cmt. 2 == B> Trp./Cmt. 2
B> Trp/Cmt. 3 + s o293 + B> Trp/Crnt. 3
=t == £
EHomn1 = FHorn 1
F Horn 2 — F Horn 2
—
FHorn3 —t FHorn3
f
£ S -3
C Trombone 1 t t = C Trombone 1
C Trombone 2 C Trombone 2
= > . = [ > | |- = bor = = = = =
C Trombone 3 " = — f 7 I f =1 P € Trombone 3 &= = = i F—t t
= T 14 T
_ _ —— N _ N
£ s Fe e 3 ¥ = S S~ £ 2 3 z A s 2. .= :
C Euph/Bar. : : 5 C Euph /Bar. i i P
CBass : : CBass
f ; === S f = f =i 4= f = - 2 Kl
32 Ej i a2 = = = e = = = ? ERE] El s k4 E ERE] El S EBE] E]
Timpani 5 — Timpani == == r == 2 EE====S S _Ss========c
+ + + i o |+ PP + + + + + o + o 4o + + + + + + + + + + + + + + + + + + + +
Il I Il 1! Il ! Il 1 Il I L 1! Il Il Il 1! Il Il Il 1 Il Il Il 1! Il I Il 1! Il Il Il 1 Il Il Il 1 Il Il Il Il T 1! Il T Il T 1! Il T T Il T T ] Il T T Il T T ] J T T
Drums Drums i 73 > 73 73 73 73 > >
I =1 s 1 1 = I =1 = I 1 = I =1 = 1 — I = 1 — I = 1 1 < I 11 =
4 4 | — —1 83— 01 —_— p— > > — >
Glock. Glock.
g 5 = ¢ = - = 2 i = = = S
= = —
11 12 13 14 15 16 17 18 19
3 4




0y £ Ee D S —_— 3 e i
Flute 1,2 g = Flute 1,2
G 5 =
f T A————
9, = 9, J— 3. e i
Oboe : — e Oboe = =
o 7 . =
mf i pocof ——— | f
- e S S S fr i prrefre PR i s s .. - S
Bassoon 1,2 S = Bassoon 1,2 =
Pl pocof  cresc - —— nf
pe ot pes 2
E> Clarinet B = E> Clarinet
o o -
ka poco f —o— |
9 9 —_—— 3 Fr i
B Clarinet 1 = 7 B, Clarinet 1 e e e e e e o e e e
mp  cresc.
9
Bb Clarinet 2 E " =] i e 1 Bb Clarinet 2
Gi — 2 v —
w————— cresc
9
B> Clarinet 3 E B> Clarinet 3
o = = = = = & 2 ¥ 5 74 ¢ 4 ¢ <
S z 4 ¢ 7 73 :
_— crese
s
E> Alto Clar. E> Alto Clar.
B» BassClar. o By BassClar.
E5 Alto Sax. 1 E> Alto Sax. 1
Eb Alto Sax. 2 E> Alto Sax. 2
B> Tenor Sax. 1, Bb Tenor Sax. 1,
cresc.
Eb Bar. Sax. t : E> Bar. Sax.
=
B> Trp./Crnt. 1 = B> Trp./Crnt. 1
==
B> Trp/Crt. 2 B> Trp/Crt. 2
=
B> Trp/Crnt. 3 B> Trp/Crnt. 3
FHomn1 FHomn1
FHorn2 FHorn2
FHon3 FHon3
C Trombone 1 C Trombone 1
C Trombone 2 S C Trombone 2
poco £ cresc
C Trombone 3 S B ? f C Trombone 3
mp cresc
o N >~ T~ - £2 o+ 5 b sEe &
C Euph./Bar. C Euph./Bar.
nf pocof | cresc
CBass == = C==i —— = - = 1 } } CBass } } } } = i - C=: C=== - =
] EEERERE 33 @ ERE EEERERS = v = = = = = = = A EEERE R EERE El
z z z z z rese. 7 z 2 z z
L '
Timpani o= Timpani
P + + + + + + + + + + + PP + + + + o+ + o+ + o + + + + T T P + + + + + + +
r—r rr—|/rr— —rr— |r—r 1 |7 7T |77 T T T |1 I — | Eli r—r— rr|rr— —rr
Drums = Drums
‘f 1 — 1 — 1 — I =1 —J I =1 — I —J I — 1 — I — 1 =1 — } 1 I ‘f 1 — I — 1 —J
m cresc - m
0. e e = 0. 2 i i = = =
Glock. E : Glock.
i = = = z i = = =
) a 2 = 2 25 % 4 » »
5 6




y
J
TV

0. & e J— s = P —— -
Flute 1,2 s Flute 1,2
5 g
wf P A————
94 == ==
Oboe — E: e —— Oboe
i ’ g — —
- k4 . pocof —
- £F ppppofre P rir el s
Bassoon 1,2 = Bassoon 1,2
poco f cresc. _—
gz - —_—
E> Clarinet =: E> Clarinet
i +
f pocof ——————
9 ey —— |
Bb Clarinet 1 e e e e e e e e e e e
’ 5 ==sS Ses .= B Carinet 1
mp cresc —_—_—
9
B> Clarinet 2 1 1 | e T e : — T By Clarinet 2
DR — 4 — ‘ 2
cresc .
9 i
B> Clarinet 3 B) Clarinet 3
v = = = & & CEE A B e e e e e e s
S *z 2 ’ ’ ’ S A A S =g
E> Alto Clar. E» Alto Clar.
Bb Bass Clar.
B» BassClar.
E» Alto Sax. 1 E> Alto Sax. 1
Eb Alto Sax. 2 E> Alto Sax. 2
B> Tenor Sax. 1, B5 Tenor Sax. 1
E» Bar. Sax. B Bar. Sx
B> Trp./Crnt. 1
B> Trp./Crnt. 1
B> Trp./Crnt. 2
Bs> Trp./Crt. 2
By Trp./Crnt. 3
Bs> Trp./Cmt. 3
FHorn 1
FHomn1
FHorn2
FHorn2
FHon3
FHon3
C Trombone 1
C Trombone 1
C Trombone 2
C Trombone 2
poco f cresc —_—— CTrombone3
_ = = = = I
C Trombone 3 =% f F T f F—
===
mp cresc R
> £ o o b efE o PSS s S S S S C Euph./Bar.
C Euph./Bar.
poco f cresc. i} , N —3—
CBass = = ———1= = e —F— = —— == =
coms e I DAL L I N A IS
El EEERER = + = 4 T z z o
= = cresc - : d
Timpani
Timpani - - - =
+ + + + PR + + + + PR + + + + + + + + + + + + + + + +
—r) 1 |71 T |71 7T |77 =771 |71 T ] I 1 1T 1]
Drums Drums = ? —5 = ? =
I 1 1 1 —J 1 I — 1 —J I — I 1 — I = Tl 1 S [
cresc -
94 9
Glock. Glock.
S S
30 a1 32 33 3 a7 38 29

7 8 end mini score/ einde proefdirectie/ fin mini partition / ende Probestimme




>, > > = d—
L T {_} = R — > S = R [ [ > = - 2
p Lo Fr £ = eer £ = fere g £f£f ¢ p  FPE e £ rfEf 2 Fr o2 Fr o Lo £ r £
Flute 1,2 Flute 1,2
G = Gi
—3——
g, —= = = = B = _ = = 9,z = = = = = = = = = = = = =
Oboe = — T s = T T T == T T T i I T T Oboe —_ s T i T T T i T > T — f i = — f T T T
== — T i i — 1 i GRS i 4 ="t =1 = =
B n12 T— p— t t t t r— t o r Bassoon 1.2 —— 5 r s b
z =2 =2 ¥ f =2 —— = i z 7 t —=
PR N e —_— = e : je = C— - S .- ——— S —
Eb Clarinet E5 Clarinet ! =
Gi S i i = = =i = o= = = i — = ~ =
g = = > = - = > = S > h T~ > _ > _ > = = = = , [
B, Clarinet 1 7 ¥ — —— 2 B, Clarinet 1 = = 2 ? ——— = > = ; ———
S == f f == 7 SEES = =1 f
g —_— — At NS = H = _ = = = = ——s——
B, Clarinet 2 i = T =i = = B Clarinet 2 7— e T T
¢ = = = == = = = i i o= = =i = S S <+ 7 ° = = =
)
B> Clarinet 3 = = By Clarinet 3
AT S S H T = = = <= = —= =
fs —r—r— t t 1 t
E> Alto Clar. —3 o Fi = e —aa—a——a— P ——— = E> Alto Clar.
O = = > == = = E = >
By Bass Clar. T j— T T F ; T i T e T = 2 Bb Bass Clar.
= < & 3 = = 2 F k4 z s - !
9y 3. . 2 5 = —_— = . - , _ - -
E5 Alto Sax. 1 E> Alto Sax. 1
Bi i f = = =
bs o Fp ooy =_=— = |
Eb» Alto Sax. 2 t =: ? — E> Alto Sax. 2
y — = i i = = = =
)z g > e \E > 2 S
B> Tenor Sax. 1, Bb Tenor Sax. 1,
Gi === ——
04 = -
E> Bar. Sax. : = ; —r : —— ; — : E> Bar. Sax.
S = = ¥ f = = = = = z
g = = = = —_— > = = = . _ .
By Trp/Cmt. 1 [F& === =5 = T — == 2 B> Trp/Crt. 1
* = =
B> Trp/Crt. 2 = = B> Trp/Crt. 2
B> Trp./Crnt. 3 S == =s==E== B> Trp./Cmt. 3
= - > = > = = =
FHomn 1 2 . = r = FHom 1
, = — —_—
FHorn2 = FHorn 2
EHom3 —_— —_— —" —_— EHom3
P Fr iy g FpfFrir 2 Ee &
C Trombone 1 C Trombone 1
. 5 Fe 7 5. e 7% o o 2 s >
C Trombone 2 = C Trombone 2
= = = . = = 4
C Trombone 3 5 E: E: f 7 7 — — } = ] C Trombone 3 B = T = T = — f 7 ——
= = = t = = = = = S Ed 2 f v i
- T T e — S o — . . = - i
=z . L e & > T E ey 2 FEFe 3 e, £ s > £ s Fw e = z 7 rau—N £ = 3
C Euph./Bar. = C Euph./Bar.
T \
CBass : = e — - T T T T T = - — = ot — x o £ CBass - i ¥ ; i ¥ i i o i T T T
E B —__ & 7 F 7 73 3 ERRA B E £ 2= £ = £ 52 = = e
z z g Z__ = g = g z E:
Timpani = 7 ‘ ‘ — — : Timpani
T s T t ¥ T = < T T s
+ + + + + + + + + + + + + + + + + + + + + + + + + + + + + + + + + PR + + + + +
Il Il Il 1 Il I Il 1! Il Il Il 1 Il 1! L Il Il 1! Il Il Il 1 Il Il Il 1 Il Il 1! 1 Il Il Il 1 Il Il Il 1! Il Il Il 1 Il Il Il 1 Il Il Il 1! Il I 1! 1! Il Il Il 1 Il Il Il 1! Il Il Il 1 Il Il Il 1 Il Il Il 1 Il Il 1! 1!
Drums = = Drums
I L= = I = = I = ] I = v 1 I =1 = I =1 = I 1 = 1 1 = I 1 = I 1 s
H _— = B e—— = _ = = H = 83—
Glock. = = 2 Glock.
Bj 7= = = f — f o= F < ¢ ¢ = =
40 S 41 42 43 44 45 46 47 48 49 .
9 10




